XYZ,=97.0698 , 100.0, 104.57 B
A=@-a)Y YmeT 40
B=(b-b)Y

a=ag[x/y] G
b =byo [2y] 2
ap=1 Gpme
byo=-0,4

n = P60 ,

YAB_77;P60 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570 B,
Bme 380_510 M, 570_470 T-4%
R, 570_440 G 520_570

1-000130-LO BE891-5A 2



XYZ,=97.4579 , 100.0, 95.98
A=(@-a)Y
B=(b-b)Y

a=agq [x/y]

b = byo [2Y]

ay=1

bg=-0,4 Gme
n=PpPs5 )

r40

YAB_77;P55 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380 510 M, 570_470
R, 570_440 G 520_570

1-000130-LO

L M
Bme
T-40
BE891-5A_2




XYZ,~98.1226 , 100.0 , 86.5
A=@-a)Y
B=(b-b)Y
a=agq [x/y]

b = byo [2Y] G,
a=1
byo=-0,4
n = P50 )

YAB_77;P50 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:

Rine570_770 Y¥pe 510_770 Brme
Gme470_570 G, 380 570
Bme 380_510 M, 570_470 T-40

R, 570_440 G 520_570

1-000130-LO BE891-5A 2



XYZ,=99.2057 ,100.0,76.07 B
A=@-a)Y
B=(b-by)Y
a=agq [x/y]

b =Dy [2Y] Gy
a=1

byo=-0,4 Gme
n=P45 ,

YAB_77;P45 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);

Name and spectral range: B
Rme570_770 ¥ 510_770 me
Gme470_570 G, 380570

Bme 380_510 M, 570_470 T-40

R, 570_440 G 520_570

1-000130-LO BE891-5A 2



XYZ,~=100.932,100.0,64.68 B
A=@-a)Y
B=(b-b)Y

a=agq [x/y]

b = byo [2Y]

a=1

bao = ~0,4 Gme
n=P40

:
YAB_77;P40 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range: Bme
Rime570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380 510 M, 570_470 T-40
R, 570_440 G 520_570

1-000130-LO BE891-5A 2



XYZ,~103.668 ,100.0,52.43 g
A=@-a)Y
B=(b-b)Y
a=agq [x/y]

b = byo [2Y]
a=1
byo=-0,4
n=P35 "

YAB_77;P35 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);
Name and spectral range:
Rime570_770 Ype 510_770
Gme 470_570 G, 380570

Bme 380_510 M, 570_470 -40
R, 570_440 G 520_570

1-000130-LO BE891-5A 2



XYZ,~=108.042,100.0,39.55 g
A=@-a)Y
B=(b-b)Y
a=agq [x/y]

b = byo [2Y]
a=1
byo=-0,4
n=P30

YAB_77;P30 40
Optimal colours (0);
6 of maximum (m) Cpg; e
chromatic vaIue(A? Bo);

Name and spectral range:

Rime570_770 Ype 510_770

Gme 470_570 G, 380570

Bme 380_510 M, 570_470 -40
R, 570_440 G 520_570

1-000130-LO BE891-5A 2



XYZ,~=115.184 , 100.0 , 26.59
A=@-a)Y

B=(b-by)Y

a=agq [x/y]

b =Dy [2Y]

ap=1

by = —0,4 Go
n=PpP25
YAB_77;P25 40
Optimal colours (0);

6 of maximum (m) Cpg;
chromatic vaIue(A? Bo);

B

Name and spectral range:
Rme570_770 ¥ 510_770
Gme470_570 G, 380570
Bme 380_510 M, 570_470 T-40
R, 570_440 G 520_570
BES91-5A 2

1-000130-LO




